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The STRADDLE test stimulus is composed of Gabor Test Contrasts that straddle the Adapt Contrast. The same basic effect (poorer performance on STRADDLE test stimuli) holds = 04(x,y,t)
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« Second-order stripes could be vertical or horizontal and were composed of 50 . . . . T
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» Gabor element orientation was the same through a trial. 10% 10% 10% Transient (1) The thick gray line shows (foveally fixated) results collected with a smaller, 2x2,
* Feedback was provided. grid. The same basic effect found with the 15x15 grid is seen with this 2x2 grid.
« Each Gabor element (except in the eccentricity experiment) subtended about 1 The Transient is the absolute value of the maximum change between the adapt stimulus contrast (2) To start looking for differences in foveal versus peripheral processing, we Co n CI us i o ns
degree at the viewing distance of 1 yard (approx 0.9 meters). and the test stimulus contrasts. The Transient does not remain constant when the Contrast Difference presented two identical 2x2 grids to the left and right of fixation. (Eccentricity values
» The Gabor element’s spatial frequency was about 2 cycle per degree. is constant (as is true in the other panels). With a Contrast Difference of 20%, the Transient is just 10% of 1, 3 and 5 are degrees to the inner edge of the grids from fixation. The Gabor ' ' o
» In the example above, each stimulus is shown as a 5x5 grid of Gabor patch for the STRADDLE stimuli but (at least) 20% for ABOVE and BELOW. Can this account for the poorer elements were not scaled with eccentricity. We added a simple letter identification Th,:ts UHUSl_JI_?]I. C%ntlrdast adapF%tIOn CﬁusesttSTRAD%L-E t%attems to b-ethChI IeSSr\:.I-Slﬁtler thalr,: ABT?]VEI.O; IB-ErI;[OW
elements, but in the actual experiments the grid was 15x15 or 2x2. STRADDLE performance? No. Observers still perform poorer on STRADDLE than on ABOVE and task at fixation.) The same basic effect is also found in the periphery as show by patterns. Is holds true with smaller patterns and in the near periphery (lower-right results). The transie
» The grid was centered at fixation (except in the eccentricity experiment). BELOW test stimuli when the Transient (not the Contrast Difference) is held constant. the pink/purple/brown results. (A second observer’s results are very similar.) change cannot account for the results (|0W6r-|eft results), but adaptable complex channels can.
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